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PUBLIC GiIOODS AND MARKET FAILURES

- Publie 300@\5 ore those Soods which are

Non-Rivalry and Non-Exclusive in consump'tio_n~

Exomple — Nabional Defense , television signals,
POLLu‘bion conbrol Project, ete.

- These FPoblic Soo.cls,Like Nabtiomal defense 1s mon

\

r‘\vomej W concumption because CO'nS.umPtfo'n ol thesq
ﬂoocls bfj 4 individoal does not reduce tts amount
available for obther consumers.

- Non- excbud\abi,.tf'bj Meams ‘jocds\ that fwovfc!e to

oll emembers of C\socie,t)r ond benitits ore available

to all e,q/uaLLj 3 frresPect\‘ve of whether some Pe_oFLe
poy for it or mot.

- Thie mon -excbucive moture of o public 3ood cavs ey
onorket Pailure « This charocteristic create Free -

Rider Problem .

_ Free—Rider t A Free Rider is on itndividual whe

receivee the benmfit od Con&um“hﬁ pUbUc Sood,
without P&jinﬁ Lor 1t

Therefore, Free-Rider's FToELem arise  when (woduCer
are not oble to Prevent those From consuming

these who do mot poy thelr share of cost.
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Dueto the presence of Free-Rl'oler)goods are
not Prov?de_cl 'bhrougln the market mechanem .

This con be seen with the hel.p of the -Po[Louofnﬂ
o\fajvams '
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SuPPose 'ther‘e, are two iho“v{o‘uaLs T2 ’Uﬂe mar‘ke’UJ
individual A and B, anrnd their corregforudinﬂ demand
corve is Dy and Dy -

Since o private 3000l is rival fn consom tiom s The
morket 'demand “curve of it s obtained by Qdd[\nﬁ
Up sio\ewa_\fs ( Horizontal addftfov)) of the
individual demand curve .

Ain F“S'i , the market demand curve \c:rp the F'TfVa'be,
Booo\ s Dm and the S,UI')PLy corve s ‘&Y, sthe
ewu;\,]br{um Price which s determined ’bhvough the
morket mechamigm is “OP’ where P is Z10 per kS

and the ovucmtitj of 3000[ available in the market]
is 850 k,j -
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Here, we con see that Prl‘ce ot the joool, e Sa'me
Por all individual . I+ tndividual A demands for
20 kﬁ, then A muoet poy F200. That meons I O\h‘tj

tndividval does mot pay € 1o/kg , then he is excloded
'p""O'YY\ CO’Y\SU'Yn‘Iﬂﬁ this 3000!.

= In Ffﬁ. 2, DA and DB is the o\emqnoL corve ot
the PUbLic 3ooc|. Pov individual A and B;mSPQCtheLH'

~The ynarket demand. corve for the poblic 3oool |5
dencted by Dm in FIS.Z,WMCI'\ is derived E?_"f gufﬂminﬁ&
l Ver‘t{caa;j the demand. corves of the individual

demomc\ corves.

— Consider Fig. 2 - It will be gzeen that individoal A
Is P'reparecl to pay price OPp for OQ* Wual’ib of
PobLic, joooL and, the tndividual Big prepare to
poy Prl‘ce OP, Tor the soame oVuomtt\bg of Pulobfg

oqQ¥* .

3ood

Thue, in case of PubLfc goods,same units of
outpu*t con be concumed by different individuale ot
d,‘-{l-Perent Price or there May be some pe_oPLe who
do not pay for this bentit 7 Doe to this Pl‘obLem, o

rofit moximizing firm will etther not produce o

PUbL,‘c So'ool or Produce too Uttle of b, This

creabes economic N etficie ney.
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Questions -

1. What is Poblic Giood 9

2. What are the characteristics of Public
G‘looc\s?

3. IWhat do Yoo uinderstand bﬂ Free -Rider
Problem”)

4, ExPLal'n that comPe'tH:fve market foul due to
the presence of Poublic Gioods.

-

Scdilneu wiln udlirnoaca



